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QUESTION 1

An administrator wants to know why using only traditional management tools is problematic in a cloud-based
environment.Which option best explains why the administrator must use a management tool like vRealize Options in the
company\\'s cloud- based environment? 

A. Virtual environments use resources differently than physical environments. 

B. Management agents written for physical environments will not work in virtual machines. 

C. Traditional network management software cannot capture virtual network packets for analysis. 

D. All management functions in the cloud must run on aVCenter as this is whereperformance data is collected. 

Correct Answer: A 

 

QUESTION 2

Which three infrastructure platformtypes can vRealize Automation deliver service across? (Choose three.) 

A. Virtual 

B. Organization 

C. Physical 

D. Provider 

E. Cloud 

Correct Answer: ABE 

 

QUESTION 3

A manager heard on a webinar that vRealizeOperations has the ability to create custom groups in order to better align
performance and management decisions with business goals. Which two options represent custom groups that can be
created for the manager? (Choose two.) 

A. DRS / HA Cluster 

B. Application 

C. Line of business 

D. vCenter Datacenter 

Correct Answer: AC 

 

QUESTION 4
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As part of setting up a company\\'s disaster recovery plan a project manager has identified the need to synchronize
storage used by the virtual machines to a remote disaster recovery site. Which product or component can be used to
perform this task? 

A. vRealize Automation 

B. vCloud Connector 

C. Datastore Clusters 

D. vSphere Replication 

Correct Answer: C 

 

QUESTION 5

A company needs a solution that allows moving some of the datacenter\\'s workload to a public cloud during peak
hours.The company does not want to pay for unused capacity during non-peak hours. Which VMware product will fulfill
this task? 

A. vRealize APIs 

B. vCloud Connector 

C. vRealize Automation 

D. VMware NSX 

Correct Answer: C 
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